
 

 

P1- For the transistor in the figure, ICQ=1mA, βF=hFE=200, VBE0.6V,  

VT26mV, Ccb=10pF and FT=100MHz are given.  

a) Find the cut-off frequencies for the low and high 

frequency regions.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

b) Vg is a sinusoidal signal the amplitude of which is 5mV and the frequency of which is the cut-off 

frequency at the high frequency region. Draw vg(t) and vo(t) for the same time-axis. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

c) Calculate the tilt and the rising-time of the circuit for a square-wave source of 10kHz. Draw the output 

signal Vo(t) (the amplitude of the square-wave source is 10mV). 
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